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F5 4 ik HIi% 101 H RAUEHLIR
1 Wk = 350k AAK0 T2 A A
2 it BEAR 31 Osokskokskkokk k6 1 4 A WA
3 by 31 Qsksksskkskskokskokok 41 8 A 7R
4 W 5 34 sk k%9 56 A WA
5 R AL 31 0skskskiokiork 19 A A
6 7K 2% Bk 31 0sksksiskskstoksketokokk 4 58 A AR
7 faet X5 31 Qs 4 1 2 A WA
8 KB 340Kk Rk Rk x4 ] T N1 WA
9 R 31 Oskssook ok 4 5.4 N1 WA
10 AR IR 320Kk kA S 10 Gl A
11 2R 370ssktokok ok k735 6l WA
12 RER 31 0skksokksokkokk k03X 61 WA
13 KR 32 Lsksokokak ik 9 3 Gl B
14 it | 7 31 0skskskskkkrkk k%319 R1 2R
15 1E& I 4] Tksosoksonkxk k540 R1 4
16 Eyat 37 2swsksksiskskokokskokekok 578 R1 4
17 TR 34 2skkddokokokokokk %91 3 R1 A
18 IMSFE 31 Oskskskskskstokoksokokk ] 14 R1 iE
19 I ANIE] 34 Qsksksksksieeokokokok 357 R1 A

20 KE~ 31 Qskstokstokstokstok gk k899 R1 A
21 JysetE 510sskskskskstokskakotokok 71X R1 A
22 2o 310xkkkskkkkkkH %616 R1 %
23 EE R 31 Qskstokstokstokstokdok k6 19 R1 A
24 Ciki s 34 [ ksstokrstokokekokok k9 1 2 R1 A
25 it ik 31 0kskskskokdokkokokkk 95 7 R1 iEA
26 IS 34 ] kool okl 358 R1 -
27 EEe) A30skskskdsdokskkdkokk (020 R1 A
28 MRE T 4] | sskskeksokekkkokokk 744 R1 A
29 R A A20kskkpkokknk k437 Q2 (=D R1 g




